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Math 2D Quiz 6 Morning, November 10th

Please put name on front & ID on back for redistribution!

Show all of your work. *There is a question on the back side.”
i. [8pts] Find the equation of the tangent plane to the surface :wz = 6 at the ]r::cnmt (L2858

S What is the equation of the normal 11I}.P to the surface at the point?
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2. [4pts| Let j{x, u) — 0™ Tind the maximum rate of change of f at (2,1,0) and find the

unit direction vector in which it occurs. ’
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3. (a) [4pts] Find % for the equation ycosx -+ ¥ T2 = a* 4 y* + arctan(z}.
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(b) [4pts] Let f(z,y) = (z —y)° + (w+y)" where z = u+w and y = u — w.
Compute,{using the U
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Note: & ~ (’lw) + (2u)
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